ElBk

Contents

iny 2532 (Hie{E) The Parameter List (theOretiCal VAIUES) ........cviiveiiieiiee ettt sae s 03
IV~ EEE ESE LB K~ Suggested dimensions of the pipe and Pipe JOINt .........cooveiiieiecie e 03
V-~ 4MF R~t Overall dimension
VI~ $EEEE Control devices.....ooooceeeeeeee.

vn ~ SHZEHENLZH The oil pump MOotor COMDINGLION ........cciuiiiie ettt ettt e et e et e e st e e saeestaesasessseenbeenraeereeens 08

[ oY 1] <R 11

> PRS0 OrAEMNG COUB. ittt ettt et et ettt et e ettt et e e 12

I~ 532 (FIS{E) The Parameter List  (thEOretiCal VAIUES) .........oeviiiiiiieiie ettt e e eaee e s eeaaae e 13
Y A N N I O V=T =1 | I [Ty a 1T E{ o TSRO URRRRUUPPRRPR 13

V-~ HEFEEIVERSLIERE R ST Suggested dimensions of the pipe and Pipe JOINt .........oooviiiiiiiiiie i 14

VA IR g == @ro 01 o] I (1Y, (o] < TR 14 - 18

| > FRUE 0 OFAOING COOB. ittt ettt ettt e ettt ettt ettt ei e et ettt 19

D s v 3 o] 1Y U T i o o PO 20

n -~ 25 (FiE{E ) The Parameter List  (theoretiCal VAIUES) ........cc.ooiuiiiiiiiiiciieciie ettt ettt 20
AV =i = Ofe 10V fo I [\ (o <1 RTR 21
V-~ M EOE LB K < Suggested dimensions of the pipe and Pipe JOINt..........ooiiiiiiiiieiiicie e 21
YA N o N I ©)V/= =11 I [T o173 Y (o o TSRS 22-32

|~ 8 (GHiG{E) The Parameter List (theoretical values)

LI A I Y/ o LY @Yo [ PR PRTPPN
in. A ~ i N ~F Overall
ﬂ .............................................................................................................

4 Utilization Notice

I =& B SN 1] 2= Vi o1 W o] {of RSO UPRN 43 - 45



QG212 B[ ZE R

o T i
Variable displacement pump QG
EIPN
Sealing Cap
e
il B FEae A HLE
screw =y Slipper Piston Retainer Plate Cylinder
R "V ‘ ' ~Block
Locknut /™
/ Bt
HEE Valve Plate
Spring Sleeve ,
s Spring
Mandrel BAmE .
Framework Oil
_Seal
QiERES v
Servo Sleeve
(EIRIEEE
Servo Piston
1
Swash Plate _ N  (EEhE
/ m \Shaft
e X
Cfﬁtrol Piston ’ f X Emg{\Small Bearing
Variable . K Big & ) = ) doLoEE
Block \ Bearing Inter Coating ~ Outer Coating Central Spring
o> TRER <<
TP ESIAMEE B A TR (V) S5H R Example:
£52. 7L 2014 2 0840442.2 pressure compensation control (Y) Pump construction
ZL 2015 3 0002399.2
W55 Feature [Gi% 515 FH Ordering code
1~ K7 hie FRHE R AR 8O - LA BRI s sty
2~ HUE LAEEJTAA31.5MPa, g i 5% ) ] 2540MPa; QG —
3. HERHUSS » DPREER l , ‘
4~ BRI AMERS iéﬁﬂ]ﬂﬁﬁﬁ!fdt
5~ SN - Ik BRYDhAR/E R arten
6 - ugc]f;?gﬁ . %T:ﬁi g : dasbes P - \IE48 Metric Parallel with key
7 SCYRSN R o SSABMBFNIMIE L %I - IS
1 This product is an axial piston pump in swash plate design for hydrostatic drives in open circuit operation (View (?n shaft end) I— R -Jfii4F Clockwise
; I— L -#i0t4} Counterclockwise
2 - lIts rated operating pressure is up to 31.5MPa, and the instantaneous high pressure can reach 40MPa;
3+ Various displacements .high power density; . - . .
4 - Excellent sSction performgncg; y r—Y £ J7#MEAS & Pressure compensation control B
5+ New appearance .Excellent power/Weight ratio; %E%WLIT? ) —BI:- |25 & Electro-hydraulic proportional control {&
6 - Low noise, Long ]lfespan; _ _ _ Control devices P [£45& Constant pressure control E& Fix
7 ~ The same mounting flange with CY pump and design for SAE oil flange, ]
—M displacement control Fzj25 & Manual control
—S
AR — MY EZZ & Grading variables control
Nominal displacement 25+28-32-40+45+55-63~ 718090 95+ 100 - 107 -
= 125+ 140 ~ 160 ~ 180 ~ 200 ~ 250 ~ 280 ~ 300 ~ 320ml/rev
Model

------- EREEHEARIRAE Qidong high pressure oil pump co.,LTD.



QG 7 &s & HikfrE% Variable displacement pump QG

S8 (BAGE)  The Parameter List (theoretical values)

1500rpmig; KR (KW)
%12 Model HEE (ml/rev) displacement %% % }J(MPa) Rated power %02 4 73(r/min) Rated power Max.power
QG25 25 315 1500 20
QG28 28 315 1500 22
QG32 32 315 1500 25
QG40 40 315 1500 31
QG45 45 315 1500 35
QG55 55 315 1500 43
QG63 63 31.5 1500 50
QG71 71 315 1500 56
QG80 80 315 1500 63
QG90 90 31.5 1500 71
QG95 95 315 1500 75
QG100 100 31.5 1500 79
QG107 107 315 1500 84
QG125 125 315 1500 98
QG140 140 315 1500 110
QG160 160 315 1500 126
QG180 180 315 1500 142
QG200 200 315 1500 157
QG250 250 315 1500 197
QG280 280 315 1500 220
QG300 300 315 1500 236
QG320 320 315 1500 252

W E EeE PkiBE KT Suggested dimensions of the pipe and pipe joint

7= Model #EH T (mm) Inlet HH I (mm) Service Line JHPEET (mm) Drain port
QG25/28/32/40/45 35 N>20 mEO
QG55/63/71/80/90 ~<P40 >625 14
QG95/100/107/125 32 & 016
QG140/160/180/200 N<P66 N<P38
QG250/280/300/320 NNO 50 & 4)28

T j
S #MER T Overall dimensior?
A
vl
Al . A2 L
¥ bt
S =%
~— o~ (32 uwn 0
ol m o m| @
LI { |
! H
A3 | = | H
A4l ] =
As | A12XA12
As._ | Al13
|A7 | Al4
- A8 -
- AO -
2-A9
== HEHCEE HUHROEE
— S——
T ® @ 5 »
1 1
= e e ) -
= A (O) )
ﬁ: i
mii A15 4-A16
BT
= Model Ao Al A2 A3 Al A5 A6 A7 A8 A9 Al10 An Al2 Al3 Al4
0G25/28/32/40/45Y  [300 4 W5 54 19 15 30 78 [M14x1.5 |E25 012 | 125 118 [236
[QG55/63/71/80/90Y 355 4 B0 62 19 16 35 92 |M18x1.5 0155 |<t>14]| 155 135 P71
[0G95/100/107/125Y  [385 4 160 70 9 21 16 35 97 | M22x1.510155 | 014 | 155 |144 P94
[0G140/160/180/200Y {478 4 100 109 21 20 44 118 | M22x1.5 4>198| 018 | 200 |160.5[329
0G250/280/300/320Y  [567 5 100 (113 21 25 75 170 M33x2 |4)230| 024 | 230 |192.5[392
#I-=-Model Al5 Al6 Al17 Al18 Bi(f9) B2 B3(h6) B4 B5 B6 B7 B8 BQ(hg)BiO B11
0G25/28/32/40/145Y  |68.7 11 50.8 | 11 (0100 33 | 030 (71 042 034 020 028 8 [30.2 []23.8
[QG55/63/71/80/90Y 70 13 7.1 13 | 0120 | 42.8 | 040 88 | 050 040 025 035 12 B5.7 R7.8
QG95/100/107/125Y  [77.8 13 66.7 15 |0120]| 42.8 | <P40| 96 |<P60 050 4)32 043 12 429 [Bl.6
QG140/160/180/200Y 89 13.5 79.4 17 | 0150| 59 055 ]1125] 076 066 0 38 052 16 50.8 36.7
[QG250/280/300/320Y |1120.7| 17 96.821 0180 | 63.9 | <P60| 135 |<P10O 090 0 50 065 18 69.9 44.5
(@]
QCG*BHy#tH O A » SHETEFAEAVHE MO IEFHENK > BIMHGGE - WIS (ERE) 3R OEAN » HHO

FELE

QG*B oil pump in and out, and its form variables mouth direction of pass in and out of the oil pump mouth is exactly the
opposite, that is, from the shaft watch, clockwise (are turning pump) inlet on the right, the outlet on the left.




QGzymmf2E3 Variable displacement pump QG

e2tE Control devices

(1) ~ Y- £z & Pressure compensation control

JEIFMEA SR AT TR SR TR 69 R/ N AT — 2 SE R AR DR 2 b o TR ER MR - TR AZE T E B
Ui o ARHE FTRRAIR B AR T BTERE - ETTHERE - HR B AR AT ERHIIAE IS ZEK - NS RIRALIRE T B iR = R
HREAELEL L, PRI ESEIEERAEENRGRATRTIE -

The outlet flow of Pressure compensation variable pump change with the size of the outlet pressure approximately in a certain
range according to the constant power curve changes. Adjust flow characteristics, can put the limit screws to the top first and
according to need pressure range, adjusting spring set, make its initial pressure meet the requirements when the flow changed and
then limit screws to the highest pressure of the flow of change, of which no longer flow and pressure changes between the

relationship of the pump design decision by itself.

(3) ~ M_ &% Fix displacement control
MEATTLAYE -
The pump flow is can't be changed.
i
Q(%)
100
o
i i
L P(MP
' ¥ e " MPe)
ke - T

R~ QG25/28/32/40/45M QG55/63/71/80/90M QG95/100/107/125M QG140/160/180/200M QG250/280/300/320M
HO <P176 0208 0228 O 260 0310
AO 272 321 350.5 440 525

+ _
. Q(%)
TS -
£ 40 |- D2
f i
25 joi
T Lol ‘D p(mPa)
0 58 12 315
1 1 " — —
HEERE TSR

QG95/100/107/125Y  QG140/160/180/200Y QG250/280/300/320Y |

(2) ~ S- F#Z& Manual control
el FRe T HERA TR T - ST IR R - HARERIEERIIERLT -
Stepless adjustment of displacement by turning the handwheel, apply to the infrequent variables and don't need a remote

condition.

—ef—- Q%)
5 100
g S
i | S
| NHE Jd 1 J SE TP
B TR

QG95/100/107/125S  QG140/160/180/200S QG250/280/300/320S

(4) ~ MY-z4p2s & Grading variables control

IR R IRGENZEHEIRN T ENN - RHOEDFTSEEEBYN, HZRIE3 ~ AMPaf = AL 8 5 - R &R EB/ N ERERI S S
MEE - ZMELF S TERELAER - ENRNIERASREE M2 S 8RN IEMTITE -

This pump is rely on internal control hydraulic control variable instiutions.The pump pressure adjustment range are small,
hydraulic in 3 - 4MPa generated when the variables, flow diminishes quickly to the requirements of high pressure flow value. This
pump is equivalent to the combination of high and low voltage actually pump, pump drive power choose reference may be made to
the pressure compensation variable pump power selection method to calculate.

; .
Q e S Q%)
| —— 100
N ! L@E%{
- i v
I , ) 25 |-+-Y+
(NSRS S 15 |-
| = iy g
= 5
' ' BEREE TS

R R ST QG25/28/32/40/45MY QG55/63/71/80/90MY QG95/100/107/125MY QG140/160/180/200MY QG250/280/300/320MY

HO 2855 321.5 334 384 434

H1 117.5 1335 136 160 185




QG 7 &s & HikfrE% Variable displacement pump QG

(5) ~ P-lE£Zs & Constant pressure control

TR ETSEREN - SRS RFHEEN TIEE T o MRAESIE @S R ERVEERBES - TERR AT ERIE N - ZRHY
BEEAE T T RAEREFIZEEN RS ENIFARIHER - AGERVET RS EE R TERIATT » B RG0RR R EZ 2R
HARERIESIN A TE % E #9115~ 20% -

In the adjustment of the pump range, can make the system maintains a constant pressure of work. When the pump pressure
under control though the constant pressure pump valve settings, in the system to achieve the set pressure, pump emissions
displacement rapidly to only be able to maintain automatic cut the constant pressure of the system for emissions. The system
pressure can through the constant pressure valve stepless adjustment, and the system relief valves are for the relief valve function,
its adjustment of pressure should be greater than constant pressure valve set up the pressure of 15 - 20% .

! Q(%) A
100
o
T
.
_ P(MPa)
L 0 315
vy LU TRIE S A TiIWISHELE

B R ~t QG25/28/32/40/45P QG55/63/71/80/90P QG95/100/107/125P  QG140/160/180/200P QG250/280/300/320P

(6) -~ B-HRELPIZE & Electro-hydraulic proportional control

IR R MM R SR 21128 ST LR ) P SO i A BB FRBR R O A IR SCE TR AR & B AR SIRATR E R ELLFIRT 52
% oo fBaR ET Y100~ 150mA, i AR ERIT— A%/ 650 ~ 800MA -

This pump is rely on external control hydraulic control variable instiutions, input proportional electromagnet by changing the size
of the current to change the pump flow, input current is proportional relationship to the pump flow. The starting current general is
100 ~ 150 mA, the biggest control current general is 650 ~ 800 mA .

i D:]:1| M14x 1.5 Q
7 Hhs0 o ¢
i pog 4 FL Qmax
1
o JH
== b
Jo =
l ] %
T KE B (10 (RIAEH)  Imax Tmm
et == 31 a4

QG250/280/300/3208B |

QG25/28/32/40/45B

GNZESHIE ST > HEE125mlir DL _EAY4E A 10 ~ 15MPa, &8 100ml/r LR Y AY %R 6 ~ 10MPa © {8 FAY T 1B JIE - SN2 E 7t AT
HENIFEAE - HEFRSMERRAYRTE N QIZEma/t(/min), q LT -

For the oil pressure, the pump displacement more than 125ml/r is 10 ~ 15MPa, the pump displacement blew than 100ml/r is 6

~10MPa. Using low working pressure, the oil pressure can be reduced. The control pump flow is recommended for Q 7

g/t(I/min), q see the table below.

HIZ-  HAR QG25/28/32/40/45 QG55/63/71/80/90 QG95/100/107/125 QG140/160/180/200 QG250/280/300/320

g (L/min) 10.8 24.6 24.6 36 41

SHZE HHL4H The oil pump motor combination

1 - #I=4589 Ordering code

$H%E Oil pump HeHL.Motor
QG Y —
L |
% Pole number #:5 K E
S-Core length #/1J#% S-Model
No.
HLEE F.0 = High stand center
2 1m (MBI ) FEBH 1% 5-Motor model
Rotating direction ]
(View on shaft end) R -4t Clockwise

L -84} Counterclockwise

v JEJI#MEZE & Pressure compensation control
LR B ?;‘&‘tﬂﬁl 55 Electro-hydraulic proportional control
Control devices P %45 & Constant pressure control

M sE & Fix displacement control

S FzhZ¢ & Manual control

MY EZZ5 & Grading variables control

N
Nominal displacement 25-28-32-40-45-55-63~-71-80~90-~95-100 - 107 ~

’ﬂ% | 125 ~ 140 ~ 160 ~ 180 ~ 200 ~ 250 ~ 280 ~ 300 ~ 320ml/rev
Mode
BREENIEAPE/AE Qidong high pressure oil pump co.,LTD.



QGz¥ws iy frzEs Variable displacement pump QG

2 ~ 4N R~ Overall dimension

SIS SHAEEAL Y 23 R <f(mm)
. = H h
- b1 -
QG*-Y160M 119 | 210 | 545 | 839 | 160 [385 20 335 | 330 | 254 | 265 | 15
Q @ QG*-Y160L 119 | 254 | 590 | 884 | 160 [385 20 335 | 330 | 254 | 265 | 15
{ \ ! QG*Y 180M | 133 | 241 | 622 | 916 | 180 P30 22 380 | 355 | 279 | 285 | 15
| QG*-Y180L 133 | 279 | 660 | 954 | 180 K30 22 380 | 355 | 279 | 285 | 15
QG95/100/107/125
QG*- Y 200L 150 | 305 | 675 | 969 | 200 k75 25 420 | 395 | 318 | 315 | 19
(o QG*-Y225S 143 | 286 | 705 | 999 | 225 | 530 | 28 475 | 435 | 356 | 345 | 19
b z QG*-Y225M 143 | 311 | 680 | 974 | 225 | 530 | 28 475 | 435 | 356 | 345 | 19
| ”l / QG*-Y250M 161 | 349 | 784 | 1078 | 250 | 575 | 30 515 | 490 | 406 | 385 | 24
1§ 12
- e - 5 QG*Y 180M | 133 P41 622 | 970 | 180 }430 22 380 | 355 | 279 | 285 | 15
I3 le -l
X X ' Bo QG* Y 180L 133 | 279 | 660 | 1008 | 180 k30 22 380 | 355 | 279 | 285 | 15
) ; QG*-Y200L 150 | 305 | 675 | 1023 | 200 K75 25 420 | 395 | 318 | 315 | 19

QG*-Y 2255 143 286 | 705 | 1053 | 225 | 530 28 475 | 435 | 356 | 345 19

HEFEMRRTESEQGINE R

Oil pump please refer to the relevant size QG overall QG*-Y225M 143 311 | 680 | 1028 | 225 | 530 28 475 | 435 | 356 | 345 19
dimensions (0G140/160/180/200 [QG*-Y250M 161 | 349 | 784 | 1132 | 250 | 575 | 30 515 | 490 | 406 | 385 | 24
QG*-Y280S 200 | 368 | 786 | 1134 | 280 | 640 | 35 580 | 550 | 457 | 410 | 24
QG*-Y280M 200 | 419 | 927 [ 1275 280 | 640 | 35 580 | 550 | 457 | 410 | 24
QG*-Y315S 222 | 406 | 1120 | 1468 | 315 | 865 | 45 645 | 640 | 508 | 576 | 28
5 *_
e SRR 238 K~ (mm) QG*-Y315M 222 | 457 | 1170 | 1518 | 315 | 865 | 45 645 | 640 | 508 | 576 | 28
ZRIU =}

= " H h . QG*-Y 315L 222 | 508 | 1170 | 1518 | 315 | 865 | 45 645 | 640 | 508 | 576 | 28

*_
QG Y112M 92 | 140 | 380 | €07 | 112 | 265 | 15 | 240 P45 190 | 1%0 | 12 QG*-Y225S 143 | 286 | 705 | 1139 | 225 | 530 | 28 475 | 435 | 356 | 345 | 19

*_
G"-Y1325 107 | 140 | 410 | 637 | 132 | 815 | 18 | 275 P8O 216 | 210 | 12 QG*-Y225M 143 | 311 | 680 | 1114 | 225 | 530 | 28 475 | 435 | 356 | 345 | 19

*Y132M | 107 | 17 44 72 | 132 1 il 275 P 21 21 12
QGY13 0 8 516 3 315 8 > P8O 6 0 QG* - Y250M 161 | 349 | 784 | 1218 | 250 | 575 | 30 515 | 490 | 406 | 385 | 24
G25/28/32/40/45 *Y 160M
Q QG Y 160 119 [ 210 | 545 | 772 | 160 | 385 | 20 | 335 B30 254 | 265 | 15 QG*-Y280S 200 | 368 | 786 | 1220 | 280 [640 35 580 | 550 | 457 | 410 | 24
*_ [QG250/280/300/320

GO0 20 T (R |eeen ) (O] e [T e O |siesl RO e 254 | 265 | 15 QG*-Y280M 200 | 419 | 927 | 1361 | 280 [640 35 | 580 | 550 | 457 | 410 | 24

*_
QG"-Y180M 133 | 241 | 622 | 849 | 180 (30 22 | 380 P35S 279 | 285 | 15 QG*- Y 315S 222 | 406 | 1120 | 1554 | 315 | 865 | 45 645 | 640 | 508 | 576 | 28
QG*-Y180L 133 | 279 | 660 | 887 | 180 | 430 | 22 | 380 [B55 279 | 285 | 15 QG*-Y 315M | 222 | 457 | 1170 [ 1604 | 315 | 865 | 45 | 645 | 640 | 508 | 576 | 28
QG*v132M | 107 | 178 | 445 | 685 | 132 | 315 | 18 | 275 pso 216 | 210 | 12 QG*- Y 315L 222 | 508 | 1170 | 1604 | 315 | 865 | 45 645 | 640 | 508 | 576 | 28

QG*-Y160M 119 210 545 785 | 160 385 20 335 330 254 265 15

QG*-Y 160L | 119 | 254 | 590 | 830 | 160 | 385 20 335 B30 254 | 265 15

QG*-Y180M 133 241 622 862 | 180 W30 22 380 355 279 285 15
QG55/63/71/80/90 |QG*-Y180L 133 279 660 900 | 180 W30 22 380 355 279 285 15
QG*- Y 200L 150 305 675 915 | 200 K75 25 420 B95 318 315 19

QG*-Y225S | 143 286 705 | 945 | 225 530 28 475 W35 356 345 19

QG*-Y225M | 143 | 311 680 | 920 | 225 530 28 475 K35 356 | 345 19

QG*-Y250M 161 | 349 784 | 1024 | 250 575 30 515 K90 406 | 385 24




JGZHI 2 2 28R

VVariable displacement pump JG

B £ Feature

IGLFmIEERE (EXEER) BRI L NCYRREENR A% > EEERCYRCANEREMN S yEAT R
A BT BAERCYRBRFERNG S/ BEANT S
1 APaE— el ET B8R > TR ERENE T
2~ UE TIEFE )] 2531.5MPa, [ i =i [ ) AT 2540MPa;
3 {EEAYIRAMERE
4~ SN - 1k BRI/ ERLL
5~ IEE{K -~ FHark
6+ SSAEmBAINTH AL -

JG series axial piston pump (old type variable) was developed by our factory latest updated products CY type axial pump, it
contains the original CY pump has some variable type, is called the old type variables, besides having the advantages of the original
CY type axial plunger pump, also has the following advantages:

1 - This product is an axial piston pump in swash plate design for hydrostatic drives in open circuit operation ;
2 -~ lIts rated operating pressure is up to 31.5MPa, and the instantaneous high pressure can reach 40MPa;
3+ Excellent suction performance;

4 -~ New appearance Excellent power/Weight ratio;

5+ Low noise, Long lifespan;

6 ~ With the SAE general oil flange design

e
5 T h

e
Sealing Cap |
R8T ~ - . .
Is_lmltmg ‘ ?pper ’%ﬁon eiainer Plate %;Hzﬁnder
crew ; : _Block
Locknut ; A NS / f . i
i Vs e Valve Plate
ring Sleeve / / ;
pring Y / -3 £ BAEHE .
, f ‘ : s ' Framework Oil
ST / 7 < 5 Seal
Spring Mandrel /  ~ XA ho<
/ / : / // 'S B . % . 4
(FNEELE =
Servo Piston
Lk N .
Swash Plate 2 o
P R il
" ‘ — \ Shaft
25 E g e Fl P
; / } /N Small
Control Piston N -~ \»;‘ . \Beariﬁg
Variable | KFR \INE . HE N ECPlutéazlés .
Block Big Bearing \ Inter Coating \ Quter Coating .~ & =Pring
B EAMET R RIEAEZERE (V) 5iREREl Example:
pressure compensation control  (Y) Pump construction
[E %1515 HHOrdering code
JG
: e 1 (MBI )
Rotating direction
(View on shaft end) [ — JEhrIgAIMETErF5= Omit for clockwise
rotation —L 3t 4t /515 L-counter clockwise
rotation® JI#MEZS & Pressure compensation control
—B p |2z & Electro-hydraulic proportional control
PRI R LA & Y prop
Control devices —P [HEZE&E Constant pressure control
—M E= Fix displacement control
—s FzhZr&E Manual control
INREES —Hl MY jEZZEE Grading variables control
Nominal displacement
10256380~ 100 ~ 125 ~ 160ml/r
=
Model

_______ "k T hE il e A 3E 7L "Seiko" brand axial plunger pump



Gz i ir2E%E Variable displacement pump JG

Z¥F: (BHe{E)  The Parameter List (theoretical values) = Model
= JG10  [P55.5 60 | 385 | 25 15 37 30 105 | 210
B it e 5 2 (r/min) Since the  WOOrpmig AR (KW) 10 4 M14x1.5 8
FIE Model HEE(ml/rev) displacement  Fii7E[E J1(MPa) Rated power highest speed Max.power JG25 280 78 61 30 12 55 45 118 236
JG10 12.6 31.5 1500 6.5 JG63/80/100 | 427 | 201 72 81 70 65 M27x2 106 | 206 12
9 20 3
JG25 23.9 315 1500 13.0 )G125/160  1480.5 233 | 82 87 80 75 M33x2 126 | 246 14
JG63 66.7 315 1500 34.3
3G80 85.18 315 1500 50.6 #l-Z-Model Al13 Al4 Al5 Al6 B3 B4h6 B5f9 B6 2¥4 B8 B9 Bio B11
16100 100 315 1500 594 JG10 0100 o1 60 025 <t>75 28 | 100 | (P25 | <P35 | 015 Jo25
JG25 <P125 71 33 | 125 | <P34 | <P42 0 28
36125 126 315 1500 74.9 4)30 4) 100 4)20
JG63/80/100 | 0160 | 014 95 40 43 | 160 P50 | 060
36160 164.5 315 1500 97.7 0 i il 4)125 ( 4)32 1) 45
1G125/160 0200 | 018 110 | <P50 0160 535 | 200 | 062 | 077 | 032 046

4ME R~ Overall dimension
i HEEEEDE B LE X K< Suggested dimensions of the pipe and pipe joint

HEHC (mm)
— #I= Model Inlet HH I (mm) Service Line JEBHIC (mm) Drain port
I JG10/25 >625 7020 22
—— JG63/80/100 >0 50 "0 32
.
JG125/160 562 32 N6 25
A A ‘ /‘ J [ ? A\ .
VT oy B pe|s= Control devices
3 &-P x
| (1) ~JIG*CHlzy (fEHR) Z5=% Mechanically (servo) operated
As | FLENHIENNERE R - EHTHETE (B LEENHELE) USR5 - BRI LR T AL
‘ @) ® F e WL LRSS A 772t -
The variable pump for mechanically (servo) operated, suitable for frequent variables (need) variables each work cycle in the oil
[ system of open, its manipulation can use manual lever mechanism, CAM mechanism and a variety of ways, such as cylinder
A10
A2 | It . hydraulic cylinder.
L A11 J
P@ o
i
i% oo M8
JG25LLF JG63p. 1 It——
f BHHOE= HilBO%= BEMOAE  HOHOE ! ﬁ
; [ PR T 5 - T 1 - i 1= Q
#EHO o | Hiln ] ol o el © Stz
- % et o @ ola o @ I ol o 0
5 L ¥ b e 0 e = ° [5)
) '
0 | | OINE A
1 ass 1| e § TZ 2oL
: a TH o Y
=l f

ot e R LEF N



JG 47 & fafi g% Variable displacement pump JG

e < (4) ~ IG**Y- £ H#MEds & Pressure compensation control

= %ﬁfb%@%ﬁﬁ@ﬂjDiﬁi%.ﬂDE)‘JE’Jkd\ﬁ{wﬂzﬁ—ﬁiﬁlﬁV\]&‘EIJJ%HEéi%ﬁft o WITREFFIER » o[RBT E b
I ) A R SR TR 758 WO » SR B S AT S AP
KA HpRIRE SR LR ARENAR G EITFTIE -

The outlet flow of Pressure compensation variable pump change with the size of the outlet pressure approximately in a certain

range according to the constant power curve changes. Adjust flow characteristics, can put the limit screws to the top first and
according to need pressure range, adjusting spring set, make its initial pressure meet the requirements when the flow changed and
then limit screws to the highest pressure of the flow of change, of which no longer flow and pressure changes between the

N ** -1 I i
g)s iEJT'\?hE’]E’?QE Fix displacement control relationship of the pump design decision by itself.
JLE AN B Z2ACHYZR ©
The pump flow is can't be changed. i
| Q%)
Y 1 Q%) - al 100 ]
© ) 100 —m—n— = ,_D_e SH 80 ‘ '
_ o / 60 )
o i [ Q 3 g a0l |
o o ‘ G | P(MPa)
ST L = P(MPa) o o o}l TLZL) 20} ! § T
| : 315 I TEH [J | 58 315
— == | . L
BEFEE TRt ! v TR TR

R RS JG63/80/100Y JG125/160Y

mnm

(5) ~ JG**P- {H£ & Constant pressure control

(3) ~ JG**S- Fz)z = Manual control TR ETTHEREN » SEHE ARG IRFHEEN TIEE ST o HZEMZESIE @7 EREEEBESS - TEARRARFIEERIEIIN - 89
TEFe FRHTHE R TTRETT - SR T IR R - HARERIEERIIERLT - PR Ba NI R RHZIEE N AGEDPRAERE o 25 E I ATEaH ERE BT TR - H RS R IR FL R
Stepless adjustment of displacement by turning the handwheel, apply to the infrequent variables and don't need a remote HIRENEIN K TEE % EE JIHI15~ 20%,

condition. In the adjustment of the pump range, can make the system maintains a constant pressure of work. When the pump pressure

under control though the constant pressure pump valve settings, in the system to achieve the set pressure, pump emissions

displacement rapidly to only be able to maintain automatic cut the constant pressure of the system for emissions. The system

pressure can through the constant pressure valve stepless adjustment, and the system relief valves are for the relief valve function,
, Q%) its adjustment of pressure should be greater than constant pressure valve set up the pressure of 15 - 20% .
= =1 o) S
- () !
o 4
—— i
; [ O = | - ‘ @)
L i ] —sren.a= = .- Q%)
o © o} T : P(MPa) [ : | )
“ D 5 - Japsma R oueugy : 100
' L 0 315 ' o l MEIE’]_’Z} |
" 1 { ] ! :
| BEREE TR I EERg ¢ S N |
| - |
i 4 ) g :
JG63/80/100S [ @ e | | I P(MPa)
& g = 315
= - R T@I L




JGzyw BimirzEsE Variable displacement pump JG

JG63/80/100P

(6) ~ JIG*MY- & Grading variables control

XM R RFENTCHERINL BN o RNEITEITEELLEN, HZEES~ AMPal 7= AT 8 5 » it &y N B T Z oK E &
MEE - XMEEER PSS TSEREAEGTE RO S RE M2 SRR R I AT R -

This pump is rely on internal control hydraulic control variable instiutions.The pump pressure adjustment range are small,
hydraulic in 3 ~ 4MPa generated when the variables, flow diminishes quickly to the requirements of high pressure flow value. This
pump is equivalent to the combination of high and low voltage actually pump, pump drive power choose reference may be made to
the pressure compensation variable pump power selection method to calculate.

i
1

1 —,
- o oY
m
i [ @ ——)
3] O o} | i 4 P(MPa)
M | -
L ; U N ' 0 23 31.5
| REEFIRE TR

JG125/160MY

(7) ~ JIG**B- sittfas & Electro-hydraulic proportional control
PR R S M SR A RIS S 1) - FI s S A BRI RESRAY FR A R R AR & M ABR S2RAR ERGEEE BRI S
Z o fLAE HR A9 100~ 150mA, i K #% ] B — A% /650 ~ 800mA -

This pump is rely on external control hydraulic control variable instiutions, input proportional electromagnet by changing the
size of the current to change the pump flow, input current is proportional relationship to the pump flow. The starting current general

is 100 ~ 150 mA, the biggest control current general is 650 ~ 800 mA .

TR |08 Imax. I(mA)

7 T

FMEEHEST - PEE125mlirLL B2 10~ 15MPa, S 100mlIrLL T HIRYZE 6 ~ 10MPa (i IRy TIEE & » SM2EhE T m] 485
JIFEAR o HERFSMEZRATR B QPEza/t(/min), q L N -
For the oil pressure, the pump displacement more than 125ml/r is 10 ~ 15MPa, the pump displacement blew than 100ml/r is 6

~ 10MPa. Using low working pressure, the oil pressure can be reduced. The control pump flow is recommended for Q #%n
g/t(I/min), q see the table below.

IS [ FAE JG10-25 JG63-100 JG125-160

g (L/min) 55 66 83




CY14-1B 25120 &= Ml [mAEZE TR

Variable displacement pump CY14-1B

S Ry Construction

EE r
Sea]mg
Cap =
Fan 1
y 21y
Screw A ﬁ%pe E%on étalner ﬁ(;Hﬁnder
[N S : r . Plate Block
Locknut /4 /L / / il
<T [ 4 P g; Ive
é@fﬁﬂ? 4 [ . o Plate
2 Spring . / / .
eeve | ) B AUHE
o | , ‘ Er;meﬂork Qil
TR / ) ] . Seal
I\ﬁ)rm / : 2 j
rel =
RS
ervo
Piston
TRk 4
Swash s Lii|
Plate—— \sh %]
EE N
Contro il
Piston Bearing
N | A& \\Vqlé \/I& Big Bearmg\lnter & %lﬁtj;ﬁaﬂz
§££Fﬁb . |Coating\Outer Coating Spring
P ESAMEE R IEEIETE (Y ) SfgRE R Example:
pressure compensation control (Y) Pump construction
5072 (36 {8 ) The Parameter List (theoretical values)
MW= Ordering code CY14-18(CML4-1B)HEEEIETE( Tk 15 S Technical data of
CcY B(CM14-1 B)Axial piston pump
ESTIEES Afke SUERRGIENZR HE _ 1 WEH
14 1 (MPa) (mI/rev) (r/min) (KW)  (kg) Displacement control type
Continuous Nominal = rated rated SCY14-1B CCY YCY DCY SCY MCY PCY LCY
- working  displacemP°wer Power Weight ff}{&/7{E 14-1B 14-1B 14-1B 14-1B 14-1B ZCY MYCY BCY
I— FEARic T4t 75 = Omit for clockwise rotation #JS Model pressure ent 14-1B 14-1B 14-1B
2.5*CY(M
—F et 51 F-counter clockwise rotation 14_153 ) 25 3000 4.4 7.2 V Y M...
------- ARSI A.B.CK......code for modified design - ----- 5*CY(M)
ERg RS g s 5 1500 | 4.4 8.2 V Yo V Y
HE—FhsEFyfL S Code for 1st design 10*CY (M
i ’ T E 10 | 1500 | 87 | 19 oy Mk M MV S VS Ve
-------- AL AR =0 e AR ZEZE (53R ) Axial piston pump (motor) with rotating cylinder CY T oV (M)
A Pump 141B 16 1500 | 14 35 0 Y% |% YAd YAd YA 3 A VA VA e
M5 i%Motor 2 Y 25 | 1500 | 21.8 | 35 [0+ vy VY% M Y MV % V% T VR Vare
—Z%iE %] Rated pressure C-31.5MPa *
BUET] P 2oy 32 1500 | 28 35 |owlr |+ Myl M 0vc e V¥
— B HRELMIZE & Electro-hydraulic proportional control 40*CY(M)
— MY EZ45E Grading variables control 1418 315 40 1500 35 35 (RA VA VAl VA Al VRS VA iq 0 YA VA%
—Z #%z/)Z & Hydraulic variable control 63*CY (M)
—L fﬁzyﬂj,&xjj & Null position centered with pilot control 14_1B 63 1500 55 63 oY% [E MY NN Y 0% M ¥¢ |V ¥
— P JE[&Z8& Constant pressure control 80*CY (M)
— M & Fix displacement control 14—1B 80 1500 0 63 JOANKNVWVRNVKVK u RAS A
B k% Becaly comol it 105 | 1500 ] 945 | 78 |osrr N e VTN e[ SRl sl VA
- [ Ically =
— Y [E/J#M£45 & Pressure compensated control eV 100 1000~ | 930 | 1B oK VI NI VR VI Ve P P vtV
—C *ﬂiﬂ(fﬂﬁﬁ)&rﬁ% Pressure compensation control 250*CY (M) 250 1000 - 145 - 207 0 * \/ * \/ * \/ * \/ * \/ * 0 7i\\ro \/ *
AFrHER (2T ¥ )Nominal displacement ( ml/rev) 14—1B 1500 218
400*CY (M) 400 1000 232 235 0 Yy 0y PO
oo VARAG VA VAAG VEAG Ve VRAS
=S o SENEII “V” JHH) IRGIE:i T
% N75 %%Tlgm) 1es d(%rt?le dlschar%gfj‘—\?ﬁ'él ?les single c?? scrﬁa‘?sg ﬁa Sl

O

|gn|f|es Product availabil ity -



CY14-1Bzias &t 2e32 Variable displacement pump CY14-1B

f #e5e% Control device] ™ sp << Overall dimension

o]l
A

" e D CCY14-1BH[afEZE R IME R~
Qi Qs Q Q Overall dimension of Axial Piston Pump Type CCY14-1B
/ )
-P . P =% '
L1, Lo
85 [
Q%) P o mE
4 Q Q(%) ' -
100 '
| : L3
= —
Ls
Qe L
= -
1811 | P(MPa) I
0 34 31.5 ¥ 108CCY14_ [ B Fysstiteds

EEFEESERELEER T R

AI'S- Model

Qmax

FER 0(IARR) Imax 1(mA)
-

O (SMEXEEE)

Inlet

(Outer diameterxthickness)

HICT(4MEXEEE) outlet (Outer
diameterxthickness)

E o RPP—TEEN
S —LETIHE
1-magpeirug (mA

4) —ZRIBFA
Qiz—MER
Q —Ryii

Recommending Pipe Sizes ( Using Oppositely unallowed)

AT (SMEXEEEL) Drain Fluid
(Outer diameterxthickness)

2.5CY14-1B 4)18x2 $14x2 <P8x1
5CY14-1B E8x2 4>18x2.5 EOx 1
10CY14-1B 025x2 4>18x2.5 EOx 1
16CY14-1B 030x3 022x3 4)10x1
25CY14-1B <P34x3 $28x4 EOx 1
32CY14-1B 4>38x3 $28x4 O 12x1
40CY14-1B 042x3 <1) 28x4 E2xi
63CY14-1B 0 50x3.5 4>42x4 014X1
80CY14-1B 4)54 x 3.5 042x4 <t>14x 1
108CY14-1B 60x3.5 048x5 E8x1.5
160CY14-1B 063x4 $50x5 E8x1.5
250CY14-1B 4>89x4 O 76x7 4)24x2
400CY14-1B 0 89x4 $76x7 024x2

HEFEEEFIB/TO84- 19777 i E B Bk 4
Recommend using JB/T984-1977 welded end through

the pipe body

| PUMP CO.,LTD.

WA

Hol %=

[J —
E 10(16)CCY (32)40CCY  63(80)CCY 108CCY 160CCY 250CCY 400CCY
B 172 195 195 258 258 322 385 385
b 142 172 178 200 270 330 420 420
bo(h9) 8 8 8 12 12 16 18 18
bi 50 66 66 74 74 100 100 100
b2 88 100 100 104 104 120 140 140
Do 100 4>125 <t>125 (1) 155 0155 <1)198 4>230 <P230
Di(f9) 4>75 0100 0100 4>120 4)120 <P150 $1180 4>180
D2 0125 0150 <|>150 4>190 <t>190 <t>240 4) 280 4>280
D3 0150 4)170 S0 <t>225 0225 0300 4>360 4>360
d(h6) 4>25 030 4)30 (J>40 <t>40 4>55 <P60 060
d2 (d4) 4>60 4>64 4)76 <I>76
di(d3) M22x1.5 M33x2 M42x2 M42(M48) x 2 <P50 4>55 4)65 <t>65
d5 M14x1.5 M14x1.5 M14x1.5 M18x1.5 M22x1.5 M22x1.5 M27x2 M27x2
H 243 296 296 337 337 391 458 458
Ho 22 34.6 34.6 41.4 41.4 42.8 55.6 55.6
hi 71 83 83 108 108 141 170 170
h2 100 125 125 139 139 172 210 210
h3 15 20 25 25
ha 22 22 22 22 22 22 22 22
L 295 362 362 440 450 595 691 701
LO 30 45 45 50 50 100 100 100
L1 4 4 4 4 4 4 5 5
L2 40 52 52 60 60 106 110 110
L3 41 54 54 62 62 110 112 112
L4 86 104 104 122 122 180 212 212
LS 109 134 134 157 162 230 272 277
L6 194 237 237 300 310 411 492 502
L7 258 317 317 389 399 533 629 639
M 4-M10x25 4-M10x25 4 -M10x 25 4-M12x25 4-M12x25 6-M16x35 6-M20x45 6 - M20x45
t 28 33 33 42.8 42.8 59 63.9 63.9




CY14-1B %52 & a4k 2622 Variable displacement pump CY14-1B

YCY14-1Bffi [aIF1 2828 DCY14-1BHi A £ZEZR
Overall dimension of Axial Piston Pump Type YCY14-1B Overall dimension of Axial Piston Pump Type DCY14-1B
A I ] | ] |
2-ds — —
iR s . .
‘ - =l A
i - f ] ﬁ
B, 100 = "
sz ¥ ﬂ /) 5 } x T it 2=
o| af - ! —
IL il .3 2-d1 '
' L2 2-d1

. L3 N 1 r ks,

y L4 R == .

4 - 1
L 5 | ‘ ' - L4 - T
. L6 o b1 - L5 -
! L7 T L Le J b1 _
fi L I B B Il £ L7 ¥
L
. o b L5 .
@ 108YCY1BLL L7
—= | B4 [ﬁ;‘H\ 1 ! E_/— 108DCY14-1BL/ | 3
PEHOAS A

pridm]

10(16)YCY 25YCY (32)40YCY  63(80)YCY 108YCY 160YCY 250YCY 400YCY 10(16)DCY 25DCY (32)40DCY  63(80)DCY 108DCY 160DCY 250DCY 400DCY
B 172 195 195 258 258 322 385 385 B 172 195 195 258 258 322 385 385
b 142 172 178 200 270 330 420 420 b 142 172 178 200 270 330 420 420
bo(ho) 8 8 8 12 12 16 18 18 bo(h9) 8 8 8 12 12 16 18 18
bi 50 66 66 74 74 100 100 100 bi 50 66 66 74 74 100 100 100
b2 88 100 100 104 104 120 140 140 b2 88 100 100 104 104 120 140 140
Do <t) 100 0125 <M25 <1>155 4>155 <t>198 0230 <t>230 Do 0100 4>125 <t>125 4>155 0155 <M98 4)230 4>230
D(f9) (15 $100 0100 0120 4>120 <P150 <t>180 4>180 D(f9) 4)75 0100 0100 4>120 4>120 <P150 4>180 4>180
D2 4)125 4>150 <1)150 0190 4>190 4)240 4)280 <t>280 D2 0125 <M50 <1)150 <t) 190 0190 <1)240 <t>280 4>280
D3 4>150 0170 <P170 <t>225 4)225 0300 0 360 6 360 D3 0150 0170 <M70 <P225 <t>225 0300 <1)360 4>360
d(h6) <P25 030 030 4) 40 4)40 <t>55 <t>60 <t>60 d(h6) 025 030 4)30 4) 40 4>55 <t>60 4)60
d2_(da) 4>60 4)64 081( - 76) 4)76 d2_(da) 4>60 064 76) 4>76
di(d3) M22x1.5 M33x2 M42x2 | M42(M48) x 2 50 <t>55 <) 75 (e 65) <t>65 di(d3) M22x1.5 M33x2 Ma2x2 | M42(M48) . 2 <t>50 4555 i 75( - 65) <t>65
ds M14x15 M14x15 M14x15 M18x15 M22x1.5 M22x 1.5 M27x2 M27x2 d5 M14x1.5 M14x1.5 M14x1.5 M18x1.5 M22x 1.5 M22x15 M27x2 M27x2
H 288 351 351 400 400 448 516 516 H 369 420 420 480 480 535 613 613
hi 71 83 83 108 108 141 170 170 hi 71 83 83 108 108 141 170 170
h2 100 120 120 140 140 173 210 210 h2 100 125 125 139 139 172 210 210
h3 15 20 25 25 h3 15 20 25 25
L 295 364 364 440 450 595 691 701 L 295 362 362 440 450 595 691 701
Lo 30 45 45 50 50 100 100 100 Lo 30 45 45 50 50 100 100 100
L1 4 4 4 4 4 4 5 5 L1 4 4 4 4 4 4 5 5
2 40 52 52 60 60 106 110 110 2 40 52 52 60 60 106 110 110
3 41 54 54 62 62 110 112 112 L3 41 54 54 62 62 110 112 112
L4 86 104 104 122 122 180 212 212 L4 86 104 104 122 122 180 212 212
L5 109 134 134 157 162 230 272 277 L5 109 134 134 157 162 230 272 277
L6 194 237 237 300 310 411 492 502 L6 194 237 237 300 310 411 492 502
L7 258 317 317 389 399 533 629 639 7 258 317 317 389 399 533 629 639
M 4-M10x25 | 4-M1Ox25 | 4-M10x25 | 4-MI2x25 | 4-M12x25 | 6-M16x35 | 6-M20x45 | 6-M20x45 M 4-M10x25 | 4-MI0x25 | 4-M10x25 | 4-MI2x25 | 4-M12x25 | 6-M16x35 | 6-M20x45 | 6- M20x45
t 28 33 33 428 4238 59 63.9 63.9 t 28 33 33 428 4238 59 63.9 63.9

00 |5%RE)E
zU PUMP CO.,LTD.



CY14-1B %525 & mfk 2622 Variable displacement pump CY14-1B

SCY14-1BHfj[a)fEE%E
Overall dimension of Axial Piston Pump Type SCY14-1B

MCY (M) 14-1B¥ [ fE3EZR
Overall dimension of Axial Piston Pump Type MCY (M) 14-1B

2-ds
i 2-ds
HmE
==
: —
. — -
k1 ., Lo =
o - 1 i
al o ~ :
1
| 2 | 2-d1
1 =
L3 {
]
2 L4 a \:_ )
- IS -
- LG -
- L -
f El__/—__‘ 108MCY (M) 14-1BJ |-yt et
#o PEHOEZ DA
pran
i 3 i i ¢
o| o 87 H(:) @Z ol o 3l 3
y ¢ ' L |
e8] Ll hs ] hs
i —
—— |
A} ] J

10(16)SCY ~ 25SCY  (32)40SCY 63(80)SCY  108SCY  160SCY  250SCY  400SCY
b 84 98 142 172 178 200 270 330 420 420
po(ho) 5 6 8 8 8 12 12 16 18 18
bi 50 66 66 74 74 100 100 100
b2 88 100 100 104 104 120 140 140
Do 4>80 <t>90 <M00 <P125 4>125 <P155 <t>155 | 4>198 <t>230 0230
Di(f9) <t>52 <P60 475 4>100 0100 4>120 4>120 | 4)150 4>180 0180
D2 4>79 <t>96 4>125 <P150 4)150 4)190 4>190 | 4)240 <t>280 0280
D3 $100 0102 4>150 0170 E70 $225 4>225 <P300 0360 0360
i(n6) 4>14 020 <I>25 4)30 030 <t>40 4>40 <t>55 4>60 <t>60
2 (d4) 060 <t>64 |4)81(4)76)| <t>76
fi@3)  M18x15  M22x15 M22x15 | M33x2 | Md2x2 |Ma2(Ma8)x| <t>50 <t>55 | 4:75(1:65) | 4>65
2
d5 M10xI |M14x15 M14x15 | MI14x15 | MI4x15 | MI18xL5 | M22x15 | M22xl5 | M27x2 M27x2
H 231 266 266 305 305 393 470 470
hi 44 50 71 83 83 108 108 141 170 170
h2 o1 101 101 130 130 165 203 203
h3 15 20 25 25
L 2125 248 295 362 362 440 450 595 691 701
Lo 20 28 30 45 45 50 50 100 100 100
L1 3 3 4 4 4 4 4 4 5 5
2 25 315 40 52 52 60 60 106 110 110
L3 26 345 41 54 54 62 62 110 112 112
L4 62 73 86 104 104 122 122 180 212 212
L5 77 905 109 134 134 157 162 230 272 277
L6 119 144 194 237 237 300 310 411 492 502
L7 258 317 317 389 399 533 629 639
M B-M8x12  -M8x20 | 4-M10x25 | 4-M10x25 | 4-M10x25 B-M12x25 P-MI12x25 | 6 - M16x35 6-M20x45 [6-M20x45
t 16 225 28 33 33 428 428 59 63.9 63.9

10(16)MCY  25MCY  (32)40MCY 63(80)MCY 108MCY 160MCY 250MCY 400MCY
10(16)MCM  25MCM  (32)40MCM 63(80)MCM  108MCM  160MCM  250MCM  400MCM
84 98 200 330 420
bo(h9) 5 6 8 8 8 12 12 16 18 18
Do 4)80 4)90 <J>100 4>125 4>125 4>155 4>155 4>198 0230 <P230
Di(f9) 4>52 <P60 4>75 0100 <1)100 <P120 4)120 <1)150 <1)180 <t>180
D2 4)79 <P96 4)125 4>150 <M50 4>190 <M90 4) 240 0280 <I>280
D3 <1)100 <P102 0150 4>170 0170 <t>225 4)225 <t>300 4>360 <P360
[ (h6) 4>14 <P20 4>25 <t>30 4>30 <P40 040 4>55 <t>60 060
2 (d4) 4>60 <P64 4>81(0 76) 076
di(d3) M18x1.5 | M22x1.5 M22x1.5 M33x2 M42x2  |M42(M48)x 4>50 <P55 t175(rH65) 065
2
ds5 M10x1 M14x1.5 M14x1.5 M14x1.5 M14x1.5 | M18x1.5 | M22x1.5 | M22x1.5 M27x2 M27x2
hi 44 50 71 83 83 108 108 141 170 170
h3 15 20 25 25
L 173 199 253 308 308 385 395 525 622 632
Lo 20 28 30 45 45 50 50 100 100 100
L1 3 3 4 4 4 4 4 4 5 5
L2 25 315 40 52 52 60 60 106 110 110
L3 26 345 41 54 54 62 62 110 112 112
L4 62 73 86 104 104 122 122 180 212 212
L5 77 90.5 109 134 134 157 162 230 272 277
L6 119 144 194 237 237 300 310 411 492 502
M 4-M8x12 | 4-M8x20 4-M10x29 4-M10x25 - M10Ox 25 4-M12x25 4-M12x25 6-M16x35 |6 - M20x45| 6-M20x45
t 16 225 28 33 33 42.8 42.8 59 63.9 63.9




CY14-1Bz¥1

PCY14-1BHfija 2%

s EEf2E3E Variable displacement pump CY14-1B

Overall dimension of Axial Piston Pump Type PCY14-1B

2-ds
]

=== 1]

=
=

9.

©ONM©
@©@

108PCY14-1BLAE WA= %S

WHOE=

HBOE=

10(16)PCY 25PCY (32)40PCY 63(80)PCY 108PCY 160PCY 250PCY 400PCY
322 385 385
b 142 172 178 200 270 330 420 420
bo(h9) 8 8 8 12 12 16 18 18
bi 50 66 66 74 74 100 100 100
b2 88 100 100 104 104 120 140 140
b3 187 187 187 138 138 138 138 138
Do 4>100 0125 <M25 <t>155 4)155 4>198 <t>230 <t>230
Di(f9) <[>75 $100 0100 0120 4>120 <P150 <|>180 4>180
D2 4)125 0150 <1)150 4>190 E90 0240 4)280 4)280
D3 4>150 0170 $170 <I>225 <t>225 <t>300 4)360 0360
d(h6é) <t>25 <t>30 030 4)40 4>40 <t>55 <t>60 <t>60
d2 (d4) 4>60 <P64 081( - 76) §176
di(d3) M22x1.5 M33x2 M42x2 M42(M48)x2 <t)50 555 0 75(0 65) <t>65
d5 M14x1.5 M14x1.5 M14x1.5 M18x1.5 M22x1.5 M22« 1.5 M27x2 M27x2
H 286 271 271 329 329 396 465 465
hi 71 83 83 108 108 141 170 170
h2 100 120 120 140 140 173 210 210
h3 15 20 25 25
L 295 364 364 440 450 595 691 701
LO 30 45 45 50 50 100 100 100
L1 4 4 4 4 4 4 5 5
L2 40 52 52 60 60 106 110 110
L3 41 54 54 62 62 110 112 112
L4 86 104 104 122 122 180 212 212
L5 109 134 134 157 162 230 272 277
L6 194 237 237 300 310 411 492 502
L7 258 317 317 389 399 533 629 639
M 4-M10x25 4-M10x25 4-M10x25 4-M12x25 4-M12x25 6-M16x35 6-M20x45 6-M20x45
t 28 33 33 42.8 42.8 59 63.9 63.9

27

LCY14-1BHfi[a 1+ FE%E

verall dimension of Axial Piston Pump Type LCY14-1B

2-d5
$Eimhan g i
; s - I N T
: 2 ///;\\ D3
L1 <
% s
ala -—: Lot g } 1 D .
! —_
= 5 ; > Do
- D A 1
b1 b2 |
L i . B B ‘ |
¥ —— e R <t
\ HEH A Rap)i: [mbr=
A © © © . r .
al = 8 @I Q | t}'%' 55,'3'
© © ©
/ Jl h3 Jl,_ hs
1 _\
R~TR= 160LCY 250LCY 400LCY
B 322 385 385
b 330 420 420
bo(h9) 16 18 18
bi 100 100 100
b2 120 140 140
Do 0198 0230 <t>230
Di(f9) 4>150 <I) 180 $180
D2 4)240 4>280 4)280
D3 0300 0360 <t>360
d(h6) 4)55 4) 60 4) 60
d2 (d4) <I>64 081(4) 76) 4>76
di(d3) 4)55 <t>75(4) 65) <t>65
ds M22x1.5 M27x2 M27x2
dé M18x1.5 M18x1.5 M18x1.5
H 520 600 600
hi 141 170 170
h2 243 280 280
h3 20 25 25
h4 194 228 228
h5 160 188 188
L 595 691 701
Lo 100 100 100
L1 4 5 5
L2 106 110 110
L3 110 112 112
e} 180 212 212
L5 230 272 277
L6 411 492 502
L7 533 629 639
M 6-M16x35 6-M20x45 6-M20x45
t 59 63.9 63.9




CY14-1B %525 & mfk 2622 Variable displacement pump CY14-1B

ZCY14-1BHf [AIfEFETR

Overall dimension of Axial Piston Pump Type ZCY14-1B

2-ds
&

h1

2-d1

(ME7EE)

108ZCY14-1BLL Eyik ik
HMOZEE Hil0E=s

MYCY 14-1B#fi [mf1 287
Overall dimension of Axial Piston Pump Type MYCY14-1B

d

bo

i

2-ds
s

" . b1

©N©
ONAC)

108MY CY14-1BLL gk
HEHICE HUR A

=
Rt HS 10(16)ZCY (32)40ZCY  63(80)ZCY 108ZCY 160ZCY 250ZCY 400ZCY
b 142 172 178 200 270 330 420 420
bo(h9) 8 8 8 12 12 16 18 18
bi 50 66 66 74 74 100 100 100
b2 88 100 100 104 104 120 140 140
Do 4>100 0125 0125 <M55 4>155 0198 0230 4)230
Di(f9) 4)75 <t) 100 4>100 <t>120 E20 <t>150 0180 4)180
D2 0125 4>150 0150 4>190 4)190 4) 240 *280 <P280
D3 0150 0170 4>170 0225 0225 <t>300 4)360 $360
d(h6) $25 4)30 4)30 4) 40 4)55 4)60 460
d2 (d4) <t>60 4)64 4>81(<t> 76) 76
di(d3) M22x1.5 M33x2 M42x2 M42(M48)x2 <I)50 <P55 <t>75(4> 65) 65
d5 M14x1.5 M14x1.5 M14x1.5 M18x1.5 M22x1.5 M22x1.5 M27x2 M27x2
dé M14x1.5 M14x1.5 M14x1.5 M14x1.5 M14x1.5 M18x1.5 M18x1.5 M18x1.5
d7 M6 M8 M8 M8 M8 M8 M8 M8
H 235 287 287 336 336 376 437 437
Ho 26 34.6 34.6 414 414 45 55.6 55.6
hi 71 83 83 108 108 141 170 170
h2 94 123 123 142 142 168 203 203
h3 15 20 25 25
h4 13 20 20 22 22 20 22 22
h5 85 110 110 128 128 155 187 187
h6 95 122 122 144 144 160 193 193
L 295 362 362 440 450 595 691 701
LO 30 45 45 50 50 100 100 100
L1 4 4 4 4 4 4 5 5
L2 40 52 52 60 60 106 110 110
L3 41 54 54 62 62 110 112 112
L4 86 104 104 122 122 180 212 212
L5 109 134 134 157 162 230 272 277
L6 194 237 237 300 310 411 492 502
L7 258 317 317 389 399 533 629 639
M 4-M10x25 4-M10x25 4-M10x25 4-M12x25 4-M12x25 6-M16x35 6-M20x45 6-M20x45
t 28 33 33 42.8 42.8 59 63.9 63.9

10(16)MYCY 25MYCY (32)40MYCY 63(80)MYCY 108MYCY 160MYCY
B 172 195 195 258 258 322
b 142 172 178 200 270 330
bo(h9) 8 8 8 12 12 16
bi 50 66 66 74 74 100
b2 88 100 100 104 104 120
Do <t>100 4>125 4>125 <P155 0155 0198
Di(f9) 4)75 0100 4>100 4>120 4>120 <P150
D2 4>125 4)150 <P150 $190 4>190 0240
D3 4>150 4)170 4)170 4>225 <p225 0300
d(hé) 4)25 4)30 030 4>40 <i>40 4)55
d2 (d4) <t>60 4>64
di(d3) M22x1.5 M33x2 M42x2 M42(M48)x2 <P50 4>55
d5 M14x1.5 M14x1.5 M14x1.5 M18x1.5 M22x1.5 M22x1.5
H 286 332 332 381 381 487
hi 71 83 83 108 108 141
h2 132 150 150 178 178 207
h3 15 20
L 295 364 364 440 450 595
Lo 30 45 45 50 50 100
L1 4 4 4 4 4 4
L2 40 52 52 60 60 106
L3 41 54 54 62 62 110
L4 86 104 104 122 122 180
L5 109 134 134 157 162 230
L6 194 237 237 300 310 411
L7 258 317 317 389 399 533
M 4-M10x25 4 - M1 0x 25 4-M10x25 4-M12x25 4-M12x25 6-M16x35
t 28 33 33 42.8 42.8 59




CY14-1B 52 & mmitzes Variable displacement pump CY14-1B

BCY14-1BA#45 & M ZE SR
Overall dimension of Axial Piston Pump Type Internal control BCY14-1B

BCY14-1BSMELS & i mFEZESR
Overall dimension of Axial Piston Pump Type BCY14-1B

10(16)BCY

25BCY

(32)40BCY

63(80)BCY

108BCY

160BCY

250BCY

400BCY

2
~d 2-ds
il y EhE
. . yi/—" . - y__\’__
L . Lo = flr . Lo -
LR ) cla T (S 2]
TN AL 2-d1 ! [ L2 | 2-d1
| . ‘
| Ls | L3
1 { L} L)
L4 1 o] . B o T
Ls | L Ls J ‘
. L6 i Ls
L L7 L L —— b2 =
- L | e L o
3 R 108BCY14-1BLA ik it L
= \ Y 108BCY14-1Bb 1534 s
HEmOE R
©_0) ©© Ll i
i i i
s |8 E @] @l[lﬂ @ II 5| 8 83
L] 1
@,@ @©
#0 1 h3 L

=
. = Tor Tor oeg oeg 322 T T joa 45 10(16)BCY 25BCY (32)40BCY  63(80)BCY 108BCY 160BCY 250BCY 400BCY
b 142 172 178 200 270 330 420 420 B 322 385 385
bo(h9) 8 8 8 12 12 16 18 18 b 142 172 178 200 270 330 420 420
bi 50 66 66 74 74 100 100 100 bo(h9) 8 8 8 12 12 16 18 18
b2 88 100 100 104 104 120 140 140 bi 50 66 66 74 74 100 100 100
Do 0100 0125 <1)125 4)155 4)155 4)198 4)230 <t>230 b2 88 100 100 104 104 120 140 140
DI(f9) 175 4>100 4)100 4>120 4>120 0150 <t>180 <P180 b3 170 170 170 170 170 170 170 170
D2 4>125 4>150 0150 4>190 1190 0240 0280 4>280 Do 4>100 4>125 4>125 0155 <P155 4)198 0230 $1230
b3 4)150 4170 (M70 4)225 4)225 <t) 300 4360 4>360 DI(f9) 4)75 <P100 $100 0120 4>120 4>150 4>180 0180
d(h6) <t>25 030 4)30 4)40 (t>40 <t)55 4) 60 4) 60 D2 $125 0150 4)150 0190 <t>190 0 240 4>280 0280
42 (d4) 160 4)64 4>81(4> 76) <P76 D3 4>150 E70 (M70 4>225 1225 $300 4)360 4) 360
di(d3) M22x1.5 M33x2 M42x2 | M42(M48) x 2 150 4>55 t: 75(<P 65) 4>65 d(h6) 4>25 4>30 4>30 4>40 4>40 4>55 4>60 160
d5 M14x1.5 M14x1.5 M14x1.5 M18x1.5 M22x1.5 M22x1.5 M27x2 M27x2 42 (g4) 4) 60 064 4>81(1: 76) 4)76
H 300 318 318 350 350 415 485 485 di(d3) M22x1.5 M33x2 M42x2 | M42(M48) x 2 <t>50 4)55 i1 75(4) 65) 4) 65
hi 71 83 83 108 108 141 170 170 d5 M14x1.5 M14x1.5 M14x1,5 M18x1.5 M22 x 1.5 M22x1.5 M27x2 M27x2
h2 104 110 110 140 140 173 210 210 H 361 393 393 416 416 478 547 547
h3 15 20 25 25 hi 71 83 83 108 108 141 170 170
ha 65 80 80 127 127 157 193 193 h2 165 185 185 206 206 236 272 272
h5 96.5 112 112 126 126 159 193 193 h3 15 20 25 25
L 295 362 362 440 450 595 691 701 L 295 362 362 440 450 595 691 701
LO 30 45 45 50 50 100 100 100 LO 30 45 45 50 50 100 100 100
1 4 4 4 4 4 4 5 5 L1 4 4 4 4 4 4 5 5
L2 40 52 52 60 60 106 110 110 L2 40 52 52 60 60 106 110 110
L3 41 54 54 62 62 110 112 112 L3 41 54 54 62 62 110 112 112
L4 86 104 104 122 122 180 212 212 L4 86 104 104 122 122 180 212 212
L5 109 134 134 157 162 230 272 277 L5 109 134 134 157 162 230 272 277
L6 194 237 237 300 310 411 492 502 L6 194 237 237 300 310 411 492 502
L7 258 317 317 389 399 533 629 639 L7 258 317 317 389 399 533 629 639
M 4-M10x25 | 4-M1Ox25 | 4-M10x25 | 4-MI12x25 | 4-M12x25 6-M16x35 6-M20x45 6-M20x45 M 4-M1Ox25 | 4-M10x25 | 4-M10x25 | 4-M12x25 | 4-MI12x25 | 6-M16x35 | 6-M20x45 6-M20x45
t 28 33 33 42.8 42.8 59 63.9 63.9 t 28 33 33 42.8 42.8 59 63.9 63.9




JHZR EEATLAH

The oil pump motor combination

M 5wk Overall dimension (% 23+ 4)

SCY-Y - o1 -
A
| e |
=
i e
< =
i 4-do o &
I 1
. 11 *12_- 13 - 14 "
436 {8) The Parameter List (theoretical values) %1 A A 18 -
— J L
Hee HIE s #UEFr 7 Rated % T EI =
o displacement [P Power Variable form ;
A5 Model mlir (r/min) 4 P
ev KW c v DSM pL 7z N ot + : @
10*CY = Y** 10 1000s 1500 2.2-11 YR Y YR Y, N N NV . a8
25*CY = Y** 25 1000x 1500 3~22 v Vv VM M VM NV vV VvV VvV
40°CY » Y 40 1000 1500 | 55-22 NV N N N N N NV N N s :
63*CY - Y™ 63 a5 1000 - 1500 75~55 N M M M VM V YAl YAl Y/
80*CY » Y** 80 ' 1000s 1500 75~55 N N M M VM NV N N N [ [ ) %
1085 CY-Y* 108 1000 - 1500 Y YR YR YR YRR Y v VvV v i f ‘
160*CY = Y 160 1000s 1500 22-132 v V VV V...VN N V E E E
250*CY-Y** 250 1000x 1500 30~132 N M M M M VNV |VNV v i } | =
ANOFCY » VHE 400 21 1000 37~132 M M VMV V V VM |V]V \Y4
k% 1 RS Wt Note:  </~-Signifies Product avaimability CCY-Y YCY-Y DCY-Y MCY-Y
RIS Ordering code CER "
> - 1
SO  2-d N o B
S5Ol pump tMotor = Ty i R ; —s =Tt
- - - 3 9 9H§‘D y ﬂ"féﬂ\'\ 5
A
C L Y - 2 2 ] 2
L= | : | < = r < =
K4 Pole number f ; [ P N f f [
] ol 9 -
BB E-Core length = £ p= \{ E &
H1JZZ=-Model No. ! Je . : | | A ES b
L& .= High stand center - iiiilni )
FEBf#175-Motor model AN A
% Pump LCY-Y ZCY-Y MYCY-Y BCY-y
il lgjj Rated pressure C - (31.5MPa) b2 A-A
M (k) 258 Mechanically(servo) ‘ ‘
operated [ J7#MEAS & Pressure : H—_T:ﬁ u
- compensation control #5245 & Eletrically -
25 B v control F-525 4 Manual control ’ - o }_)&D &0 of ol
Control devices TEE Fix displacement control = . ) O : A\ 2-d p——
— P HEZs & Constant pressure control o . “ ]l ha
— L ZfryiEshas s Null position centered with pilot = ) %)
control | B 8
— Z&zh4x & Hydraulic variable control 2 ; - w *
— MY EZ A& Grading variables control PCY-Y 10, 25, 40, 63. 80*CY-Y 108, 160, 250, 400*CY-Y

— B HIRER{FZS & Electro-hydraulic proportional control
A FRHEE Nominal displacement



| &2 } 52
WM ER B HE HEEOHIRAER £ B
1 ANV L EAI = A =
N 4] N 4] A ~ = =
RS % ome mx M AR w mE @k =
i) r/mi N OfR  pLyw s (fmin) £ H fE g 5
(MPa)  (I/min) 7B (MPa)  (I/min) -
o 11 12 13 14
10*CY . A v ZFACY/ © . & Vv
o B2 | 1000 186 MO 2 140 B5 180 586 112 65 11 J15 P40 45 (190 190 fi2 ispes PS5 [1500 P30 W5 1107 140 J103 poo |85 [132 B15 B3 fi8 75 pso 16 P10 fi2
8 ~31.5 | 10-25 Y 8-31.5 | 40~10 %
Locy 12 0 N oy - 12 0 NV
Vizes PO | 1000 186 {10 1107 [140 B5 P00 636 [132 B15 [r1 [18 p75 pso pi6 P10 [i2 raona 75 [1500 D30 W5 [107 178 103 38 720 [132 B15 B3 [18 P75 P80 P16 P10 fi2
12-315 | 10~4 Y 12-315 | 40 ~15
10~CY- 25+CY -
1ome O |1000| 20 10 M 186 {10 1107 [178 B5 P38 671 132 B15 [r1 [18 P75 P80 pi6 P10 [i2 Visova [T S0 |16 0 NV P30 W5 [119 P10 103 P70 820 [160 385 B3 PO [B35 (330 P54 P65 [i5
10*CY = .
Ygggw_e 655 [1000| 25 10 M 186 {10 1107 [178 B5 P38 671 132 B15 [r1 [18 p75 pso pi6 P10 [i2 23:;\[4 15 1500 | 21 0 NV P30 W5 [119 P54 103 B14 865 [160 385 B3 PO 1335 (330 P54 P65 [i5
10~CY - v -
Vieomes 5 |1000| 315 0 M 186 {10 1119 P10 85 P70 771 160 B85 [71 o B35 B30 254 P65 fi5 YzlzocMY_ , 85 fisoo | 25 0 NV P30 W5 [133 P41 103 B11 885 [180 {130 B3 P2 P80 P55 P79 pss [i5
ey - 8 6 N ffl*;otll p2  [1500 | 315 0 NV P30 W5 [133 P79 103 [p49 935 [180 (130 B3 P2 B8O 55 P79 P8s [i5
8.0 | 1500 186 MO [74 140 B5 176 556 [100 45 [11 fi4 a5 pos 160 180 12 -
Y100L2-4
8 ~315 | 164 YA
Loy 5 0 NV
12 6 Vst B0 1000 30 5 [107 178 [103 38 [r20 [132 B15 B3 |18 75 P80 P16 P10 [12
. ]
Lo ko | 1500 186 o P2 40 B5 180 586 112 P65 [r1 15 4o pas f190 oo f12 5-31.5 | 40~6 Vv
12 ~315| 16-6 v
10*CY 40*CY - ! oV
vi3os4 P5 |1500| 16 16 NV 186 KO [107 140 B5 P00 636 [132 B15 [r1 |18 p75 P80 p16 p10 12 vizamz- P2 fo00 30 U5 (107 178 103 P38 [720 f132 B15 B3 [18 P75 P80 R16 P10 [12
7-31.5 |40 ~10 v
10*CY =
Y0132M_4 75 [1500| 25 6 N 186 {10 1107 [178 B5 P38 671 132 B15 [r1 [18 p75 pso pi6 P10 [12 " "
10*CY- 40*CY -+
Yle%,&_Ll 11 | 1500 | 315 6 N 186 [0 [119 P10 B5 P70 [771 [160 1385 [71 PO B35 [330 P54 265 [15 vicom-s |° 000 P30 ¢S5 (119 P10 (103 P70 820 ({160 385 B3 PO 335 B30 P54 P65 f15
10 ~31.5| 40-12 \
20-CY -
Sy 5 25 N vieoLs 1 pooo | 15 0 NV P30 | 45119 P54 103 B14 865 [160 385 B3 PO [335 (330 P54 P65 [i5
Clses PO | 1000 P30 W5 [107 J140 (103 00 |85 132 B15 83 18 p75 80 P16 10 fi2 g
5 ~315 | 25~4 YA visore |5 pooo |20 0 NV P30 W5 [133 79 103 [p49 35 [180 {130 B3 P2 P80 P55 P79 P85 [i5
Sy 8 25 N ovoirs 85 pooo | 25 Y P30 115 (150 [B05 [103 879 950 P00 k75 B3 5 h20 B9s B18 P15 [19
oo RO [ 1000 P30 W5 1107 [178 | 103238 [r20 |32 B15 B3 [i18 75 pso pi6 1o [i2 .
8-31.5 | 256 YA Y Y42%O(I:_\2(:6 p2 1000 | 315 40 NV P30 W5 [150 [305 [103 879 950 P00 175 B3 P5 120 95 318 B15 [19
Jorcy - 12 IV, oGy - 5 60 N
o PS5 | 1000 P30 W5 107 J178 (103 P38 [120 |32 P15 83 [18 75 8o pi6 10 fi2 Visses PS5 [1500 P30 W5 1107 140 J103 poo |85 [132 B15 B3 18 P75 pso 16 10 fi2
12315 |25~10| 5 ~315 | 60 ~10 W
257CN -
Visoms | 75| 1000| 16 25 N P30 W5 f119 P10 103 70 |20 160 B85 83 R0 [B35 B30 P54 pes [i5 oGy - 7 60 |V
e Vi 75 [1500 P30 W5 1107 [178 J103 P38 [r20 132 B15 B3 fi8 P75 pso 16 1o fi2
vicoLe | 11 [1000] 25 25 N P30 W5 [119 P54 [103 314 865 [160 [885 83 R0 [B35 B30 P54 pes [15 7 ~315 |60 ~12 %
3(51’;%16 15 | 1000| 315 25 N P30 W15 1133 79 [ 103849 Jo35 180 430 B3 P2 PBso 55 79 pss fi5 oGy - 10 60 M
- Visoma BL o [s00 P30 45 1119 P10 [103 P70 820 [160 |85 B3P0 B35 B30 P54 P65 15
percy 5 0 NV 10 ~31.5| 60 ~18
s O [1500 30 U5 2 [140 J103 [180 B35 [112 P65 [83 J15 P40 P45 190 190 J12 o
5 ~315 | 40-6 YA Y Vieola 5 Jis00 | 14 60 M D30 W5 [119 P54 103 B14 865 [160 385 B3 PO [B35 (330 P54 P65 [i5
Y‘;%’;CMQ 185 [1500 | 17 60 NV P30 W5 [133 P41 103 B11 885 [180 {130 B3 P2 |80 55 P79 p8s [i5
Y“I%’;iYA' p2 1500 | 20 60 N P30 W5 [133 79 103 [p49 35 [180 {130 B3 P2 B8O P55 P79 P85 [i5




WEHEFER £ WE
1 AR = AR
SHZE EAL4H e gl\él
Fif=! . »
el r/mi EH PL y
(MPa) 7B
—— 6.3 63 N
vieoms 5 [ 1000 83 B3 [119 P10 [143 P70 881 [160 [385 [108 0 I35 [330 P54 P65 [15
6.3 ~31.563-12 Vv Vv
R 10 63 N
vicoL-s L 000 P83 B3 [119 54 [143 B14 926 [160 [385 [108 20 [B35 [330 254 P65 [15
10-31.5 [63 ~20 YA
— 12 63 N
visol.s 5 [Looo 83 B3 [133 P79 [143 B49 096 [180 }430 [108 P2 B8O [B55 79 P85 [15
12 ~31.563 ~25 Vv
63*CY-
v200L1-6 [185 | 1000 | 16 63 N P83 b3 [150 05 [143 79 [1011 P00 W75 [108 5 K20 395 [318 |15 [19
63*CY -
voooLo B2 [L000 20 63 |V 83 B3 [150 B05 [143 B79 [1011 P00 J475 [108 p5 [20 395 318 B15 [19
* Y'
Y62325C|:\/I-6 30  [L000 25 63 N D83 B3 [143 B11 [143 B93 [1041 p25 [530 [108 8 W75 K35 356 B45 [19
63*CY
Vg | 1000 | 315 63 N P83 B3 [161 49 [143 K55 [1120 P50 575 [108 B0 [b15 190 |06 [385 P4
o 6.3 100 [V
vicoma [L LS00 83 B3 [119 P10 [143 P70 881 [160 [385 [108 0 B35 [330 54 P65 [15
6.3 ~31.5{100 ~20 YAl Y
o 85 100 [V
vicoLs B 1500 P83 b3 [119 p54 [143 B14 926 [160 B85 [108 [P0 B35 [330 [254 |65 15
8.5-31.5 [100 ~25 YA Y,
e 10 100 [V
Visom.a [85 [ 1500 83 B3 [133 P41 [143 B11 038 [180 }430 [108 2 B8O 355 79 P85 [15
10-31.5 [100-32 Y
— 12 100 [V
VisoLs P2 L1500 83 B3 [133 P79 [143 349 096 [180 }430 [108 P2 B8O [355 79 P85 [15
12 ~31.5[100-40 \/
Yg%’;in 30 [1500 16 100 N P33 B3 [150 BO5 [143 B79 [1011 P00 J475 [108 5 k20 B95 B18 B15 [19
63*CY -
vorssa BT [1500 20 100 N P83 b3 [143 P86 [143 368 [1016 P25 530 [108 P8 K75 K35 [356 [345 [19
63*CY =
| 1500 | 25 100 NV P83 B3 [143 B11 [143 393 [1041 P25 530 [108 P8 K75 K35 [356 [345 [19
63*CY-
vosom-a B5  [1500 315 100 [V D83 B3 [161 49 [143 K55 1120 p50 575 [108 30 B15 190 K06 B85 P4
N 5 80 |V
7.5 | 1000 83 b3 [119 P10 f43 70 881 [160 B85 [108 [P0 B35 [B30 [254 |65 [15
Y160M-6
5~31.580 ~12 YA Y,
— 75 80 N
Vi | 1000 D83 B3 [119 P54 [143 B14 926 [160 [385 [108 0 B35 [330 P54 P65 [15
7.5-31.5 [80 ~18 YA,

#2
HEFHREEA B s
o e =
R g mk =
25 (r/min) £ e g
(MPa)  (I/min) o
N
80*CY - o il
visoLs |5 [Looo P83 B3 [133 P79 [143 B49 996 [180 K30 [108 P2 [380 B55 P79 P85 {15
10 ~31.5| 80 ~25 [ |V
socy. 12 80 N
V2001 1-6 | 185 [L000 P83 B3 [150 [305 [143 B79 [1011 P00 K75 (108 P5 K20 B95 [B18 B15 [19
12-31.5 | 80 ~30
80*CY-
v200L2-6 P2 [L000 15 80 |V P83 B3 [150 [305 [143 379 [1011 P00 (75 {108 P5 (20 B95 [318 B15 f19
80*CY-
v22sM-6 PO [L000 | 20 80 M P83 B3 [143 B11 [143 B93 [1041 P25 530 [108 P8 W75 (35 B56 B45 [19
f(oz’;‘é:/m 37 flo00 | 25 80 |V 083 b3 [161 [B49 [143 W55 [1120 P50 675 [108 B0 515 {90 406 [385 P4
80*CY-
vos0s-6 5  [ooo [ 315 80 |V P83 B3 200 [368 [143 530 [1212 80 640 [108 B5 (580 550 U57 K10 P4
80*CY ° 2V
vicoma L [1500 P83 b3 [119 P10 f143 P70 |81 [160 B85 {108 PO [335 B30 P54 P65 f15
5-31.5 [ 120-18 \\Y
80*CY ! S
vieoLa [15  [t500 P83 B3 [119 P54 [143 B14 926 [160 [385 [108 PO [335 B30 P54 P65 15
7 ~315 [120 ~25 \\Y
80*CY- 55 S
v1soms | 185 [1500 083 B3 [133 P41 [143 311 [938 [180 (430 [108 P2 [380 B55 P79 P85 f15
8.5-31.5 (120 ~32 \\Y
80*CY - B
visoLa P2 1500 P83 B3 [133 79 [143 B49 996 [180 K30 [108 P2 [380 B55 P79 P85 {15
10-31.5 | 120-38 V
80*CY - 2V
voooLs PO [L500 P83 B3 [150 [B05 [143 B79 [1011 P00 W75 [108 P5 420 B95 B18 B15 [19
13-31.5 [120 ~52 V
80*CY-
voossa P77 1500 16 120 NV 083 b3 [143 P86 [143 368 [1016 25 630 {108 P8 (475 K435 B56 [345 [19
80*CY-
v2osm-a B8 [500 | 20 120 NV 083 b3 [143 B11 [143 393 [1041 P25 630 {108 P8 (475 K435 B56 [B45 [19
80*CY-
v250M-4 P5 1500 | 25 120 NV 083 B3 [161 [B49 [143 W55 [1120 P50 675 [108 B0 15 |90 406 [B85 P4
108*CY - ° i
Vieos L [t000 P88 b5 [119 P54 [143 B14 | 933160 [385 [108 PO [335 B30 |54 P65 15
5-31.5 | 108-16 2\
108*CY - ! il
visoLe [5 [Looo P88 b5 [133 P79 [143 [349 [1003 [180 (430 {108 P2 [380 B55 P79 P85 [15
7-31.5 [ 108-22 vV Vv

37|




(=2
WEHEFER £ WE
1 AR = AR
;‘Ha,if;iajméﬂ wie gl\él
R
Ejj P|_ Y MY
(MPa) 7B
ey 9 108 [V
Y200L1:6 18.5 | 1000 88 b5 [150 B05 [143 B79 [1018 P00 J475 [108 p5 }20 395 318 B15 [19
0 ~31.5 [108 ~30 YAl Y
103Gy 11 108 [V
Y200L2f6 P2 [1000 P88 b5 [150 [B05 [143 B79 [1018 P00 J475 [108 5 [20 395 318 15 [19
11-31.5 [108 ~40 \
108*CY-
voosm-6 PO fLooo 15 108 [V D88 b5 [143 B11 [143 B93 [1048 p25 [530 [108 P8 W75 K35 356 B45 [19
108*CY -
vasoms B7 [Lo00 18 108 |V 88 b5 [161 B49 [143 W55 [1127 p50 575 [108 30 B15 190 K06 B85 P4
\l(gzg?g 5 1000 | 22 108 |V P88 b5 P00 68 [143 [530 [1219 P80 640 [108 35 [680 [550 K57 410 P4
ey o 5 162 |V
VicoLs [B [1500 88 b5 [119 P10 [143 P70 888 [160 [385 [108 20 B35 [330 54 P65 [15
5 ~31.5 [162-25 YA Vi
108*CY - 6 Y
Visoma [185 | 1500 P88 b5 [133 p41 [143 B11 j945 [180 {30 [108 P2 B8O 355 [279 |85 15
6-315 [162-32 YA Y,
108*CY * ! 162 NV
visoLa P2 1500 88 b5 [133 P79 [143 B49 [1003 [180 }430 [108 2 B8O 355 79 P85 [15
7 ~31.5 [162-40 YAl Y
. 10 162 NV
VoooLa PO 500 88 b5 [150 [B05 [143 B79 [1018 P00 J475 [108 5 [20 395 318 B15 [19
10 ~31.50162 ~55 Y
L0BCY - 12 162 N
vorses P7 [1500 P88 b5 [143 P86 [143 368 [1023 P25 530 [108 P8 K75 K35 [356 [345 [19
12-315 [162 ~65 \V
108*CY-
N (1 1500 | 15 162 |V D88 b5 [143 B11 [143 B93 [1048 p25 [530 [108 P8 W75 K35 356 B45 [19
\1(2%34 55 [1500 18 162 |V 38 b5 [161 B49 [143 W55 [1127 P50 [575 [108 30 B15 K90 K06 B85 P4
L60CY 6 160 N
v " hs.5 | 1000 365 B9 [150 05 [181 379 [1099 P00 W75 41 p5 K20 B95 [318 15 [19
00L1-6
6-31.5 [160 ~30 YA Y,
T 75 160 N
VaooLo6 B2 1000 365 B9 [150 BO5 [181 B79 [1099 P00 475 [141 p5 k20 B95 B18 B15 [19
7.5 ~31.50160 ~35 YA Y,
L60%CY 10 160 [V
Y225M--6 30 [1000 365 B9 [143 B11 [181 393 [1129 P25 530 141 P8 K75 K35 [356 [345 [19
10-31.5 [160-50 \

52
MR £ B
o A =
R WE A =
BE (min) 5 R g
(MPa)  (I/min) o
N
160*CY- 12 i
vasoms B[00 365 59 161 [349 [181 W55 [1208 P50 575 141 B0 515 490 W06 [385 p4
12 ~31.5(160 ~60| |V
160*CY -
Vos0e6 5 [1000 16 160 N 365 59 200 1368 [181 530 [1300 |80 [p40 141 B5 580 [550 ¥57 K10 p4
i{i%oi/lYea 55 [1000 20 160 N 365 59 00 W19 181 581 [1351 8o fp40 [141 B5 580 [550 457 k1o p4
160*CY -
vaises |5 [Looo 25 160 N 365 59 P22 ko6 [181 609 [1544 815 865 [141 W5 645 640 508 576 P8
1(63015(;:6 00 [1000 | 315 160 N 365 59 P22 W57 1181 [720 [1594 815 865 [141 W5 645 640 508 576 P8
160*CY - ! G
voooL.a | 30 [t500 365 59 [150 1305 [181 879 [1099 poo W75 ha1 ps k20 B95 B1s B1s f9
7 ~315|240 ~50]
160*CY - 85 G
vorsea BT [500 365 59 143 P86 181 B93 [1104 p25 30 f141 ps W75 W35 [B56 1345 9
8.5 ~31.5( 240~ 63 \/
160*CY - 10 2V
vossna (5 [L500 365 59 143 [311 [181 B93 [1129 p25 B30 f141 ps W75 W35 Bs6 [B45 9
10-31.5 [240 ~75| v
160*CY * 125 a0V
vosoms PS5 [L500 365 59 161 1349 [181 W55 [1208 P50 575 141 Bo 515 K90 W06 1385 p4
12.5-31.5 [240 ~90| |V
160*CY-
I 75 1500 17 240 NV 365 59 00 1368 [181 530 [1300 8o [p40 [141 B5 (580 550 457 k1o p4
i‘;‘;’;CMYzl 00  [1500 20 240 365 59 oo W19 181 581 [1351 8o fp40 [141 B5 (580 550 457 k1o pa
160*CY -
vatses | 110 1500 25 240 NV 365 59 P22 ko6 [181 1609 [1544 [B15 865 [141 W5 645 640 508 576 s
% -
1(63015CI\/IY—4 132 1500 | 315 240 NV 365 59 P22 W57 [181 [720 [1594 815 865 [141 W5 645 640 508 576 P8
250*CY - 03 20V
Voose | 30 JLooo 419 71 (143 B11 P20 B93 11195 P25 530 170 ps W75 W3s 856 [345 119
6.3-31.5 [250 ~50| |V
250*CY - 8 0V
Vosone BT [Looo 419 [71 161 849 p20 W55 1274 P50 575 170 Bo 515 Moo kos B85 pa
8-315 250 ~65| |V
250*CY - 10 i
BOCY | 45 fooo 419 [71 |00 1368 20 530 [1366 [280 640 [170 B5 580 550 457 k1o p4
10 ~31.5[250 ~80| |V
250*CY - e 20V
Vosome PS5 [Looo 419 71 P00 k19 P20 581 11417 P80 640 170 B5 [580 550 W57 K10 pa
12-315 [250 ~95




(=2 %3
WEPWEER Eh OHE %%gfrgfn%ﬁ‘ﬂ“
. 1 AL LR U= Model = Model
i o mE Bk o9 . toscy-y | 150 [ 233 [e1 | / toccy-y [ 150 [ 230 [ @2 | v / / M5 P3.4
- L (MH—P:g)J PL y w 255CY-Y 170 | 263 | 101 | / 25CCY-Y 170 | 315 | 125 / / / M8 [34.6
= o | o d o 6ascy-y [ 225 | 312 [ 130 | / 63ccy-y | 225 | 359 | 140 [ / / / M8 1.4
250*CY - 160SCY-Y 300 395 165 / 160CCY-Y 300 415 172 / / / M8 K2.8
oses I3 ooo |16 250 M 119 [71 22 ko6 P20 609 [1610 B15 [865 170 M5 p45 640 508 [576 P8 rsevy T 300 T Toos T rocevy T 300 Tass 510 ; 7 7 R
\Z(Zi;(lfAYe 00 fooo | 20 250 h19 [71 P22 W57 P20 [720 he60 B15 865 [170 W5 |45 f40 08 76 P8 10vCy-y | 150 [ 288 | 100 | / 10LCY-Y | 150 [ 324 [ 154 [ 62 [ 78 [ M14x15 | / /
T 25YCY-Y 170 | 351 | 120 | / 25LCY-Y 170 | 400 | 190 | 85 | 105 | MI18xL5 / /
Vatsiie [HO frooo |25 250 119 [71 22 508 p20 [720 [1660 B15 [865 [170 45 645 640 508 [576 |8 A 5 1 200 | 120 17 siovy T 25 262 T 26 T 98 T 128 | Misxis 7 7
20CY " 3 hooo | 29 250 M 119 [71 22 508 P20 [720 [1660 B15 [865 [170 M5 645 640 508 [576 P8 Looveyry | 300 | 448 | 178 | SOLCYTY | 900 | 524 ) 245 ] 160 | 194 | MBS / /
Y315L2-6 250YCY-Y | 360 | 516 | 210 | / 250LCY-Y | 360 | 606 | 283 | 188 | 228 | MI8xL5 / /
- — 10DCY-Y 150 | 340 | 92 | / 10ZCY-Y 150 | 235 | 94 | 8 | 9 M10x1 M6 P34
e BTS00 419 11 [143 p86 P20 [B68 [1170 P25 [530 [170 P8 W75 W35 B56 [B45 [19 25DCY-Y | 170 | 420 | 125 | / 252CY-Y | 170 | 304 | 123 | 110 | 122 | MI4x1.5 | M8 P46
5 ~31.5 [375-63 v 63DCY-Y 225 | 480 | 140 | / 63ZCY-Y | 225 | 357 | 142 | 128 | 144 | MI14xl5 | M8 Wl4
: = L 160DCY-Y | 300 | 535 | 172 | / 160ZCY-Y | 300 | 398 | 169 | 155 | 160 | M1sxl5 | M8 M2.8
o s soo 410 71 f43 B11 poo Bo3 195 P25 |30 170 b8 W75 hi3s Bse Bas fio e (I [ (= wizorey|[eet | e || A || e [k (LRSS ] 28D
7 ~31.5 B75~ 77 \/ 10MCY-Y 150 / / / 10MYCY-Y 150 282 128 / / / / /
2sMCY-y | 170 | / / / 25MYCY-Y | 170 | 334 | 152 / / / / /
250%CY- 8 3B M ] 6amMcy-y | 225 [ 7/ / / 6amMycy-y [ 225 | 382 | 181 [ / / / /
Vasoma B [1500 e o ’ 19 [11 61 B49 p20 Wss 1274 pso 575 170 B0 15 K90 W06 [385 b4 meEr e ; ; T a | oo [ oE | 0 ; 7 7 7 7
' 250MCY-Y | 360 | / / / 250MYCY-Y | 360 / / / / /
1 375 I T0PCY-Y 150 | 255 | 101 F1i15 10BCY-Y 150 | 300 | 104 | 65 / M14x1.5 / /
*, "
f(SZ%OCS: 75 [1500 419 [11 P00 B68 20 530 [1366 P80 (640 [170 B5 80 50 U57 W10 p4 25PCY-Y 170 | 288 | 120 [115 25BCY-Y ] 170 | 318 | 109 | 80 ! M14x15 | / /
11 ~31.5[375-128 v 63PCY-Y 225 | 329 | 140 115 63BCY-Y | 225 | 350 | 140 | 127 | 126 | MI4xL5 / /
20°CY- gy hsoo | 13 3715 MV 119 [71 oo k19 p20 |81 [1417 pso fe40 170 B5 B8O 550 W57 K10 b4 LOOPCVTY | 300 | 96 | 178 pr1S | OBCVIY | 800 | 416 ) 178 | 157 | 159 | Midd® ! !
Y280M-4 250PCY-Y | 360 | 465 | 210 F115 250BCY-Y | 360 | 487 | 210 | 193 | 193 | MI4xL5 / /
250*CY -
V21564 [0 pi500 | 16 375 |V 119 [71 22 ko6 p20 609 [1610 B15 [865 [170 M5 p45 640 508 [576 P8
— S AOHEY - Y BREHIIR T+ 5%3:p25*CY - YR 524 AR
: 80 - 108*CY-Y iz #5311 R <+ 5%3:63*CY- Y R F5e Al ; 400*CY-Y 2 i
Gatsma [132 fis00 | 19 375 MV 119 [71 22 k57 P20 [720 [1660 B15 [865 170 U5 645 640 508 [576 P8 SR 5332505 CY -Y i <52 Al -
250*CY - note: The size of the 40*CY -Y variable section and in table 3 25*CY -Y of
Y215 1.4 [160 f500 | 23 3715 MV 19 [71 22 508 P20 [720 [1660 B15 [865 170 U5 645 640 508 [576 b8 exactly the same size. The size of the 80 - 108*CY -Y variable section and in
table 3 63*CY -Y of exactly the same size. The size of the 400*CY -Y variable
section and in table 3 250*CY -Y of exactly the same size.
. 55 360 |V "
vosoms B7 [Looo 129 71 [161 B49 P30 K55 [1284 50 575 [170 BO 515 190 406 P85 pa
55~21 B60~90 |
7745 K<t Installation dimensions (mm)
400*CY - ! 80V 1= Model S i i S in Flui
Vosoes |5 [Lo00 429 [11 00 P68 30 530 [1376 P80 640 [170 B5 K80 |50 57 W10 pa - it [1Theinlet and the ol outlet M CIDrain Fluid
7-21  [360-120 Y . 02 ha a3
10%CY » Y M22x1.5 M14x1.5
400*CY - . i _ - -
55 [1000 129 [71 po0 p19 P30 581 [1427 P80 40 [170 B5 80 550 W57 410 P4 25*CY - Y M33x2 172 M14x1.5
Y280M-6
8-21 360-145 \/ 40*CY = Y M42x2 178 M14x1.5
* 0 * "
:‘(03015?(6 75 hooo | 11 360 MV 129 71 22 koe P30 609 [1620 B15 [865 170 U5 645 640 508 (576 b8 T Y Ma2x2 200 M18x1.5
80*CY - Y M48x2 200 M18x1.5
f{g‘is‘aﬁ 00 |ooo | 14 360 4o 71 22 W57 P30 [720 |1670 B15 865 [170 W5 |45 a0 508 576 b8 AT = &5 5 =0 T
400*CY - 160*CY-Y 55 64 20 330 M22x1.5
vasi1e [0 [l000 | 16 360 |V 129 [711 22 508 P30 [720 [1670 B15 [865 170 45 p45 640 508 [576 P8 X
a 250°CY-Y 65 76 25 420 M27x2
i%%’;f_;s 132 11000 | 20 360 |V 129 71 P22 508 P30 [720 [1670 B15 [865 170 U5 p45 640 508 [576 P8 400*CY + Y 65 76 25 420 M27x2




58 F 70

Utilization Notice

O HFEIU LB E L2 SRR BN S S EIAT R S - k& 2 AR N A R BN, W TR E AT (BT
160L/MinfyZE - REZSEAEMA L -

The oil pump can be installed by support or flange. The pump and prime motor shall utilize the same basic support.
Both the flange and base shall have adequate rigidity. The pump with a flow of above (or equal to) 160L/min shall not

be installed on the oil tank.

RV Chil S RS U e B9 [E R R 22 R K Te 0.05,
The co-axiality error between pump transmission bearing and prime motor output bearing shall not
exceed e 0.05.

© RIS S Ui ] LR PR M I B 2R B2 P A S 20 S R e B R E R - 5 — B R e SR
U NE 01— o =2 JRE S 2282 R R BATRE » 12 S 2R R [E Rl = R R K0 0.05 -

The pump and prime motor output bearing shall be connected by flexible coupler. It is forbidden to install belt wheel
or gear in the pump bearing to drive the oil pump. Once it is a must to connect with pump by belt wheel or gear, a pair
of support shall be installed for the installation. The co-axiality error between support and pump bearing shall not

exceed - 0.05.

O it BERESBIFEES AR ETR T O2M itk it Ft”  SBPT27THINERKEEFM HAERME
BATMAEEM 2 AT A - BRI LA BN R RIS T4 » RIS R PR R TR -

The oil tank design, piping collocation and auxiliary parts setup shall be in strict adherence to relevant requirements
in 1992 Edition "Mechanical Design Manual" Volume V, P727 published by Machinery Industry Press or relevant
stipulations in other manuals. Before oil filling into the oil tank, the pipes must undergo acid flushing or phosphating
disposal. The whole system shall be clean and tidy. During the oil filling, the oil filter shall be utilized to filtrate the oil

liquid.

O ERERET PR T ARE MR ST > B R R AT AHAE -
During the utilization, it is forbidden to open the oil tank cover or refueling hole due to system heat generation to

prevent dust and other dirt from entering into the oil tank.

O HEERAEEAT > FECMIEHE 2SR e e ame - AREE AR AT500mm, AR T2 HERE) -
The oil pump shall better adopt reverse filling and self-absorption method. Once it is a must to install oil pump on
the oil tank or vertical installation and self-absorption are realized, the self-absorption height shall not exceed 500mm.

Besides, it is only limited to startup by total discharge volume.

OEHFENTCHE R E R iR 2S5 hes - oM EEmA AN NFHEFRAEIE - DomE s EAE L BN LR AR
PO EKL<2500 mm, B EE LA LTI -

It is forbidden to install oil filter in the oil suction pipe of oil pump. The drift diameter of oil suction pipe shall not be
less than the recommended value. The drift diameter of stop valve in the oil suction pipe shall be one level higher than
that of oil suction pipe. The oil suction pipe shall have a length of L<2500 mm and there shall be at most two pipe

elbows.



O HIFE A E R E PR (B RN A A F0.05MPa,

The oil discharge pipe of oil pump shall be directly connected with the oil tank. The oil returning back-pressure shall

not exceed 0.05MPa.

@O ESNAT - WIUEA RS EAHEH R IR RS TR EAIN RIS Eh A SR A SRS, EEE B
5-1053%f » AERATER BT ©

Before oil pump startup, clean working oil must be filled into the pump through the oil discharge outlet of pump
crust. During the startup, the oil pump shall be inching for several times. Upon normal operation of oil flow direction and

sound, the oil pump shall operate for 5-10 minutes under low pressure and then enter into normal operation.

O TAFEAET MR FINS28NAGHE R F0H o d0fHE A HAR O - ZRES0=3-5F5 540K 790 - JHZRHIEER (HEAR~E15°C-
65°C, i F 8 X — R ESUEIR - TR R R P LRSS HI S E -

Work medium: N32 or N46 anti-wear hydraulic oil is recommended. Once other hydraulic oil is utilized, it is required
to have E50=3—>5 and viscosity index above 90. The normal utilization temperature of oil pump shall be 15°C-65°C.

Once this temperature scope is exceeded, the heating or cooling device must be installed in the hydraulic system.




